Physics 10164 - Exam 1C

Partial credit will be given provided you show all work and are
solving parts of the problem correctly. Points will be deducted
if you don’t show your work even if you get the right answer.
Clearly indicate your answer with a circle or a box and remember
to include correct units and significant figures.

1. (35 pts) A +3.5 UC charge is located at the origin. A -5.3 uC
charge is located at x = 33 cm.

a) What is the magnitude and direction of the electric field at
the position x = -14 cm?

b) What is the magnitude and direction of the electric field at
the position (x = +33 cm, y = +33 cm)?

,,,,, . o B

{Eééfgii?f%
for ’
S @ N =
e g < =  ~ e
;*N”g ? E zj‘ & ; j 751 gz
4
e
g . s 7oy T ﬁié{;g§? c
o e — 7 / i: 7 - ‘
/ %ﬁ?z/ = L6 x/0 = Ay ;//%yx Wid

PR —
A S




2. (35 pts) A proton is located at the origin. An electron is
initially at rest at x = 36 mm. The only force in this problem
that is relevant is the electric force. After the electron
moves a distance of 12 mm in response to the proton’s electric
field, how fast is the electron moving?




#3. (30 pts) For the circuit shown below, determine the voltage
difference across the capacitor C3.

C1=1.0uF C2=20uF
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